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Maltose Fructose Sucrose Glucose In most plants food is transported in the form of:
. 3 o »
4% 0.9 % 12% 10% . o lnlidytom| 2
: Lipid is present in milk:
Oy SIS L/'}y i AT 1‘&m(@;j.(w;;é;c_r‘:y_,g 5
Respiration Dehydration Reduction Oxidation Loss of an electron from atom is called:
brd Vel e/ Uwidl Y BM e et 4
Bu Ali Sina Ibn-e-Nafeez Koshlanq Jabir Bin Hayan |Concept of metabolism first given'by:
et (I R f A g e Ui o WS s
D.lvmon‘o.t Division of Division of Division of Cytokinesis means:
mitochondria chromosomes nucleus cytoplasm
Sk Ly t/1x 74 :'f-vjb”gjﬁ'-—wguwdt{'d/"d 6
To duplicate To cut To make larger | To make smaller | Meiosis is Greek word meaning:
& Ty, .
0.1dm 0.1mm 0.lpm 0.lcm ey “E-/’EW”)’ZJJ”’{’ v 7
- Resolution power of human eye is:
2 ik Eons EVT | e Jelish| 8
Ca e ) n - 1]
Muscle tissue | Connective tissue| Nervous tissue | Epithelial tissue |Bone is example of:
W‘é’ Ju, by (jb’ ’ i r.l'}ﬂ/ K/l 9
Animalia Plantae Protista Fimgi - Kingdom of ferns is: ‘
ey 2 o w b Aol 10
Scientist Geologist Biologist Chemist Man always remained a .
G Nadl Ut At e bUDL I H skl | 11
Physiology Genetics Anatomy Histology Study of gene and their role in inheritance is called:
Surgery Physiclogy Morphology Medicine Transplantation of kidneys is example of:
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( Part-1 Ji s )

10 Write short answers to any FIVE parts. Fw-q '—2.:— -ﬂ.-jy_z/‘?&,mlé&céf <2
What are the major biological issues today? ORI e n LT ()
What do you mean by horticulture? How is it related to agriculture? ‘-’c‘:-f).c:;rc—/,ng’yﬁﬂ ‘-'é-J‘/l:(C— fv‘{;ﬁ (ii)
Define bioclements. Give two examples. -é:d{u‘!l‘/u -_é.yfd/ﬁ;fb (i)
Define theory. -_.é.J_J/deuf? (iv)
Differentiate between control and experimental group. -né/f)'/uf-r;f& LiuU:P/ v)
What hypothesis was suggested by A.F.A King? *‘t&fu’:‘.}:gg’;vﬁ” AFA (vi)
Write any two differences in animal and plant cell. -é&;ﬁ)é[g}:g}fét_){ﬂbﬂg (vii)
Define osmosis and active transport. -éfJfJuzﬂxrf'/}'J//F' (viii)

10 Write short answers to any FIVE parts. - u&li/"‘épl]létc,df =3
Write any two characteristics of kingdom monera. -e’Lu/»dJJyrrﬁ (i)
What are the major causes of species extinction? e 2:6/.6’ng)"(:»*£%& (i)

What is cell cycle? ‘.’c“_)l/l[:_(fl/Jf (iii)
S O/ Il Fu /S (iv)

-E 00t W

What is difference between chromatin and chromosomes"f“?\

Differentiate between benign and malignant tumors. s

Define chiasmata and crossing over. _é - /’JJ:;'.&UE;M;W (vi)
State how the varying light intensity affect the rate of photosynthesxs'? " 'UUJU/J /f‘;)’uyJ(ﬁ/C)J fé Pk (vii)
State alcoholic fermentation. g fgtj /—*‘ -éful« /";u’w/.ﬂfd (viii)

10  Write short answers to any FIVE parts. ~N -J@LU’/L»'? léte_af -4

What do you mean by saturation of active sites? "c_)/(f:'_.uJJfJJ'l/;fl (i)
How do enzymes are used in food industry and paper industry? (1+1) SUt Lﬂdiﬁ"'é/’/luﬁ J"Jﬁb//ﬂbu"’(,(-ﬂji (ii)
Why induced fit model is more acceptable than lock and key model? e uﬂ_UfJG‘»LJaﬁJJfLJJakﬂUﬁL&Jf.g,'cl (iii)
4x05) gpfetzip /A (v
(1+1) -a“rtéu//ufJuJ:vﬁ (v)
(1+1) ~Z Ut S YUBGE ! (v
te oty S VY (vii)

& Al s (vii)

Write any four causes of Ulcer. (0.5x4)

Draw and label the structure of a villus. (1+1)
What is angina pectoris? Give its symptoms. (1+1)
What is leukemia? How does it cause?

Give symptoms of Dengue fever.

-u,?ﬂ; 09 £ Jise «é{f@@izéawfuaéf cplgd das
Part - II, Attempt any TWO questions. Each question carries 09 marks.

242 -Gl UISELE - ASSLay (L s

Define population and community. Also explain types of commumty

-Eoee e SIS0 - A sk (L)

Define endoplasmic reticulum. Describe its types with diagram.

3+1 What is classification. Explain its basis. -c{ubcwft*y(u}“ﬁ "4.:/“4,‘}‘3)“;“1}/ () 6

1+3+] bl P St e FEIS (L)
What is dark reaction? give its mechanism and draw its cycle.
A Fre () 7

I+1+1+1 Write the effects of malnutrition.
1+3+1 -é;u&f@»LaJuwu&gﬂ/w/u‘/ch. -:f..u/{,(u%/w/ (v)
Define transpiration. Describe events of stomatal transpiration wnth the help of section of leaf dlagram
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D C B A Questions / = Uy y-
LA | P iPean B e Onep A PPl ey 1
Mgl TEImatic eptdEri) Support tissues | Ground tissues | The tissues of plant have ability of division:
tissues tissues
pre o s LA O g | 2
Vacuoles Plastids Ribosomes Mitochondria | Sites where proteins are synthesized: ,
JQ g¢’ ey l'y"{- Iger}ﬁy{u;ﬂ}h;j!/{)/___ 3
Plantae Fungi Monera Protista Prokaryotic organisms belong to kingdom:
S o b Ueoa v RS A 4
Liver Intestine Stomach Mouth In mosquito's plasmodium multiplies in:
Jr & v 4 f‘Ldij;{;){ngé.){: 5
Flower Leaf Stem Root L e reproductive organ of plant is:
ul,_;» ROR ] st .-.H}’_“ g ZC_VOQJJWJ‘X 6
Al-Haywan |Al-Qanun-Fil-Tib| Al-Wahoosh Al-Nabatit- |Bgok of Bu Ali Sina on medicine is:
T
Lol Ut o 120 15 = 10 W8 c——jl B :c_c,b,;‘/»b/)'(_‘rg.bﬁﬂ:vg 7
Months to years 120 days 1010 15 days 7to 8 days +|The avsrage life span of a blood platelet is about:
Tl 0% oLP Adw’ ;(‘_r’q;;u_,gm,.»'_t?;w:;,fu_/ 8
Lipase Trypsin Pepsin Amylase ‘Enzyme present in saliva is:
g 6 i 5 ‘iZ- ATP = FADHy {i| 9
1 Each FADH2 produces ATP: -
o 25 oo ¥ e LB LL] 10
Trypsin Protease Glycogen Pepsin This is a biological detergent:
st A\ 70 St s g| 1
Oscar Hertwig Pastéur Walther Fleming | Robert Brown | Meiosis was discovered by:
px" A A By e G DB LR AN T e/ | 12
The chromosomes arrange themselves along the
Telophase Anaphase Metaphase Prophase equator of cell in this phase:
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( part-1

10 Write short answers to any FIVE parts. FBD-C'
-2

Define science.

What do you know about Bu Ali Sina?
What is biosphere level?

Define biological method.

Differentiate between theory and law.
Write any two characteristics of hypothesis.

What is meant by plasmodesmata?

What is difference between active transport and passive trans

10 Write short answers to any FIVE parts.
Define taxonomy and systematics. (1+1)
Write the classification of pea plant.
Why S-phase is important fgr cell cycle?
What is crossing _over'? Draw its diagram. (1+1)
How disjunction is different from non-disjunction? (1+1)
What is phragmoplast? Why is it important for plant cell?
Draw molecular structure of ATP.
Define photosynthesis. Give its equation. (1+1)

10 Write short answers to any FIVE parts.
What is optimum temperature? Give any suitable example.
Write any two characteristics of enzymes. (1+1)
Write any two uses of enzymes. (1+1)
Write the effects of Dengue Fever on platelets. (1+1)
What is difference between ingestion and digestion? (1+1)
Write any two disorders of the gut.

Write any two reasons for the creation of transpiration pull.
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What is difference between angioplasty and bypass surgery. (1+1) (1+1) %J/g@ﬁj; /J &JLJJ‘U‘/ i ;,5:"'

_uf/-,"' 09 ZJlvz -é{fo@'ﬁéomm:aé’( c(.'U.H.faa .,
Part - II, Attempt any TWO questions. Each question carri¢s.09 marks.

9+2  Write a note on population and community level.

1+1+1+1 Give significance of biodiversity.
4+1

242

05  Write a note on arterial system in man and draw its ﬁgufe. ~e b

®
(i)
(iii)
(iv)
1\
(vi)
(vii)
(viii)

e A JAGE T ()
342 _Eer b INL i E JILAF ()

Write the functions of cell membrane. Explain fluid mosaic model.

REASW N AL D)
OS] e wnl g8 (&)
Describe summary of events of light reactions with the help of diagram.

&t edsine JEA I (D)

Write a note on diseases in man related to minerals deficiency.

18-1X122-55000

P e JEFU AT (L)

Ly

e

p

oz ke dd 2

=

-4

-D

-6

wd



